Important Note : 1. On completing your answers, compulsorily-draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluatei and /or equations written eg, 42+8

USN CMRIT LIBRARY LM BAlA
BANGALORE - 560 037
First Semester MBA Degree Examination, June/July 2018
Business Analytics
Time: 3 hrs. LN Max. Marks:100
SECTION - A
Note : 1. Answer any FOUR qil"estionsfrom Q.No.1to Q.No.7.
2. USE of normd?‘distribution table and statistical table is permitted.

1 What are the common errors in{ network diagrams? (03 Marks)

2 Discuss the importance \offB‘usiri'ess Analytics. (03 Marks)

3 Differentiate betwcen\tféﬁ:éportation and Assignment problems. (03 Marks)

4 What is meant "\by\.i‘f‘f;Féctor Analysis”? Write the types of factor analysis. (03 Marks)

5 Whatis LPP‘? Bfieﬂy explain the applications of LPP. (03 Marks) ~

6 Wh.;;ft"is correlation and Regression? Explain the use of this in statistical analysis. (03 hg’arié‘)\j

7 [m out the different measures of central tendency and explain them. (03 Marks)
SECTION - B

Note : Answer any FOUR questions from Q.No.1 to Q.No.7.
1 Solve the following LP graphically, >

Max z =6x, +8Xx,
Subject to conditions,
30x, +20x, <300

5x,+10x, <110 ;
X, >0and x;> () PR (07 Marks)

What is decision theory? Briefly explain about the stepsm decision making process. (07 Marks)

Draw the network diagram for the followin adf\tlivit\iéﬁs: (07 Marks)
Activity A|B{C/D|E| F G H
Predecessor | - | AIA|B|B|B,C|B,C|D,F

What is “Data warehousing”? Explain advantages and disadvantages of data warehousing.
% N (07 Marks)

Calculate the mean, medium and mode of the following distribution:
Class Interval | 0— 10 [10—20 | 20-30 | 30-40|40-50| 50-60 | 60—70 | 70 — 80

Frequency PRNEE 18 23 31 14 13 10
b (07 Marks)
Find the standarddéiiiation by step deviation method for the following data: (07 Marks)
Class Interval | 0—10]10-20[20-30]30-40 | 4050 | 50-60 | 6070 | 70— 80
Frequency” 6 14 10 8 1 3 8
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Briefly explain about steps in designing single factor exp?fiméntation. (07 Marks)

SECTIQN - C
Note : Answer any FOUR quéstiénsﬁ*om Q.No.I to Q.No.7.

A company produces 2 types of hats. Ea(;;h‘ hat of the first type requires three as much labour
time as the second type. If all hats are of sécond type only, the company can produce a total of
500 hats a day. The market limits daily sales of the first and second type to 150 and 250 hats.
Assuming that the profit per hat air\é Rs. 8/- for type A and Rs. 5/- for type B, formulate the
problem as LP model in orderﬂgodéférmine the number of hats to be produced of each type so as
to maximize the profit. Solve graphically. (10 Marks)

A small project consistihgﬂo\f\ the following jobs whose time estimates are given below:
Job 12)b-3[2-3]2-5[3-4[3-6|4-5[4%6]|5-6|6-7
Time (days) | 137 4 15 3 5 8 12 1 14 3 14

(i)  Drawanetwork diagram.

(i) Fmd the critical path and project duration. (10 Marks)

Four professors of each of capable of any one of 4 different subjects. Class preparation time (in-
hoursy for different topics varies from professor to professor and is given in the table. Each
__professor should be assigned only one subject. Find the schedule so as to minimize the total
subject preparation time/professor. - (10 Marks)
P Subjects 1 O)
Si S; S3 Sy N

P2 10 9 7 N

Professors P,|15 4 14 8

P;| 13 14 16 11 RigiE

P,|3 15 13 8 | /2N

The following table shows the jobs of a network alon with their time estimates: (10 Marks)
Jobl1-211-6]2-3[2-4[3-5[4-5|6-7/5-8|7-8
to 1 2 2 2 7 5 S| 3 8
t 7 5 14 5 10 5 N 3 17
tp 13 14 26 8 19 17, ¢ 2 9 32
Draw the project network and find the probability of the project completing in 40 days.

(Take ¢(0.8) = 0.2881) A

Obtain the rank correlation coefﬁciegthetv@igen the variables X and Y from the following pairs

of observed values: QA (10 Marks)
X150 [55 [65 |50 | 550060 |50 |65 |70 |75
Y [ 110 | 110 [ 115 | 125 L.140 [ 115 | 130 | 120 | 115 | 160

Explain briefly about deci§‘§011 making under risk and decision trees. (10 Marks)

The life time of aceitaln electrical equipment has the normal distribution with mean 80 hours

and standard deviation 16 hours:

(i) What isthe probability that the equipment lasts at least 100 hours?

(i) If the'equipment has already lasted 88 hours, what is the conditional probability that it will
last atleast another 12 hours? (10 Marks)
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CASE STUDY — [ Compulsory ]
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8 (a) Determine the IBFS using the following ‘rry\l‘e,tﬁ;é\d'for the transportation problem:

(i) NWCR () LCM o\~ (10 Marks)
Factory / | Wi, W2 | W3 | Wy | Supply
Warehouse |~

Fion |21 1625 | 13 11
Froo | 17 | 18] 14 | 23 13
Fs 0 [32]17 (18|48 19
| Derand 6 | 10 | 12 | 15
(b) Solve the transportation problem by using VAM method. Test the solution for optimization

(10 Marks)
Source/ A B | C]| D |Supply
Destination

] 3 [t [7]4] 300

2 2 [ 6 [ 5] 9 ] 400

: 8 [ 3]3 ]2} 500
Demand | 250 | 350 | 400 | 200
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